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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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Define scope and nature of ‘Statistics’ and discuss importance of graphical

presentation of statistical data.
(3IU4A1/Or)
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Calculate the Arithmetic mean by using direct and short cut method for the

following data.

Marks Students
0—10 5
10—20 5
20—30 10
30—40 10
40—50 20
50—60 30
60—70 30
70—80 20
80—90 10
90—100 10
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What is meant by Skewness ? Give the definitions of Karl Pearson’s and

Bowley’s coefficient of skewness.

(31F41/Or)
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Calculate Mean Deviation and its coefficient with the help of the following data

by using direct method :

Marks Frequency
0—10 2
10—20 8
20—30 10
30—40 4
40—50 1

(&8 III/Unit III)
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What is Correlation ? Explain different types of correlations.
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(314T/Or)
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Calculate Karl Pearson’s correlation co-efficient for the data given below :

Age of Husband Age of Wife
20 17
25 24
30 28
35 32
40 35
45 38
50 42
55 51
60 56
65 60
70 62

(3&E IV/Unit IV)

7. JAET 4§ IR We-Tery ¥ 92 few yer e ® sEe 9via wifed

What is regression and describe how it is different from correlation.

4837 4



10.

4837

(3AYET/Or)
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Find the most likely production corresponding to the rainfall of 36 inches when

the following data are given :
el (Rainfal) ~ S@@A (Production)
3Ed (Average) 30" 45 THEAT (Units)
HH% fo=e™ (Standard Deviation) 4" 10 AT (Units)
HE-TY UM (Co-efficient of correlation) = +0.8
(3HE V/Unit V)
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What do you understand by the association of attributes ? Explain Independence

of Attributes.

(31 4T/Or)
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With the help of the following ultimate class-frequencies, find the frequencies

of positive and negative classes and also the total number of observations :

(AB) = 300; (Ab) = 200; (aB) = 250; (ab) = 100



